
Installation Instructions

INSTALLATION TIME SKILL LEVEL

1/2 Hour 1 - Easy

TOOLS

Vehicle Application

• Jeep Wrangler TJ
 1997 – 2006 
 Part Number: 51238TJ Header Windshield Channel

1/2"



Installation

Step One
INSTALL WINDSHIELD RETAINER

Place the Windshield Retainer as-
sembly on top of the bulb seal along 
the top of the Windshield.

Locate the two J-Hook Brackets in 
the parts kit. Orient a bracket with 
the hook toward the front and the 
threaded insert toward the top. Slide 
the bracket into one of the J-Hook 
Bracket Bases mounted to the 
Windshield Retainer and catch the 
hook in the slot in the windshield. 
Insert a 5/16 x 1-1/4" Bolt and a 5/16" 
Washer from the top of the base into 
the  J-Hook Bracket to secure the 
bracket to the base. Repeat this on 
the other side of the vehicle.

Note: While installing the Windshield Retainer/J-Hook Bracket Assembly, apply fi rm pressure toward the 
front of the vehicle to make sure that the assembly is installed correctly over the bulb seal.

Windshield 
Frame

J-Hook Bracket - 
Hook into slot in 
windshield

5/16" Washer

J-Hook Bracket 
- Hook into slot 
in windshield

5/16 x 1-1/4" Bolt

Windshield Retainer 
Cross Section

5/16" 
Washer

Windshield 
Retainer 

Bulb Seal

Push Down Here

5/16 x 1-1/4" Bolt

J-Hook Bracket Base - 
(Windshield Retainer)

Windshield 
Retainer 

Parts List and Hardware Identifi cation

5/16" Washer, Qty - 2, 
Part Number 233.04

J-Hook Brackets, Qty - 2, 
Part Number 378.61

Windshield Header, Qty - 1, 
Part Number 378.36

5/16 x 1-1/4" Bolt, Qty - 2, 
Part Number 378.59

BESTOP HARD TOPS SOFT TOPS

http://www.carid.com/soft-hard-tops.html
http://www.carid.com/bestop/



